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1. (b)

2. (a) After interchanging the signs,

77 – 7 + 17 × 49  7

= 77-7+17×7

= 77-7+119

=189

3. (a) Chickens are birds whereas  bats, seals and rodents are mammals.

4. (b)

Similarly,

M   A   D   R  A  S

 
N   Z   W   I   Z  H
14 + 26 +  23   + 9 + 26 + 8 


opp.

P   U   N   J  A  B


K   F   M   O  Z  Y
11 +  6 +  13   + 17 + 26 +25


opp.

106
  +6
112

98
+6
104

=

5. (d) F-
V+

Y- H+

N-

D
-

6. (c) In each figure star, circle, parallel lines and hash   symbols are in clock wise  directions.

7. (b) 48  75  108  147  192

27  33    39    45 

+6 +6 +6

8. (c) (8, 1, 46)

Logic:

Square of (1st number – 2nd number)–3 = 3rd number

 (8 – 1)2 – 3 = 46

Similarly,

(7,3,13)

 (7–3)2 –3 = 13

9. (b)

S    D    F
+

G
+

H

J

F is the grand daughter of J  i.e., daughter's daughter of J.

10. (d) By the help of the options,

 268  4 – 8 × 5 + 14

 67 + 14 – 40 = 41
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11. (a) P  L  U  M  A  G  E

G  I  C  O  W  N  R
(+2) (+2) (+2) (+2) (+2) (+2) (+2)

Similarly,

T  R  I  B  A  L

N  C  D  K  T  V

12. (b)

 

Sunday         F

Monday        C 

Tuesday        G

Wednesdays  A

Thursday      D

Friday           B

Saturday       E

13. (a)

14. (b) In each figure there is only one circle is enclosed in the given figure but in the option b we have 2
circles.

15. (d) By the statement we cannot conclude that the students had failed only due to the mobile games may
be they have some other reason of failure so inference 2 can't be true.

16. (a)

17. (a) FIRED  FISED  FITED  FIUED

18. (c)

19. (d) by the statement we have following conclusion:

i) Z<A False

ii) G<F False

20. (a) logic:

First  number ×2 + 4 = Second number

 (18×2) + 4 = 40 42

21. (a)

Laptops Phones
PensPen. drive

22. (a) A > D > B > C

23. (d)
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24. (c) 
S  W  A

+4 +4

U  Y  C

+4 +4

V  Z  C

+4 +3

C  G  K

+4 +4

25. (c) 1,4,3,2,5

B-GENERAL AWARENESS

26. (d) Mahendra Varman I was the ruler of the Pallava dynasty in South India.

He ruled from 600–630 AD and was known for his patronage of arts and architecture.

Mahendra Varman I was succeeded by his son Narasimha Varman I, who continued the expansion
of the Pallava dynasty.

Dur ing the reign of Mahendra Varman I, the Pallavas witnessed significant cultural and architectural

advanc-ements, including the construction of rock-cut temples./ egsaæ oeZu çFke nf{k.k Hkkjr esa iYyo jktoa'k dk
'kkld FkkA

mlus 600&630 bZLoh rd 'kklu fd;k vkSj dyk vkSj okLrqdyk ds laj{k.k ds fy, tkuk tkrk FkkA

egsaæ oeZu çFke ds ckn mlds iq=k ujflag oeZu çFke us mÙkjkf/dkjh cuk] ftlus iYyo jktoa'k ds foLrkj dks tkjh j[kkA

egsaæ oeZu çFke ds 'kkludky esa] iYyoksa us egRoiw.kZ lkaLÑfrd vkSj LFkkiR; çxfr ns•h] ftlesa pêðkuksa ls dkVs x, eafnjksa dk fuekZ.k
'kkfey FkkA

27. (c) The Chach-Nama, also known as the "Fateh Nama Sindh", is the main historical source for the Arab
invasion of Sindh in the early eighth century.

This text provides a detailed account of the conquest of Sindh by Muhammad bin Qasim in 711 AD.

The Chach-Nama was originally written in Arabic and was later translated into Persian by Ali Kufi

in the 13th century./pp&ukek] ftls ̂ ^iQrsg ukek fla/** ds :i esa Hkh tkuk tkrk gS] vkBoha 'krkCnh dh 'kq#vkr esa fla/ ij vjc
vkØe.k ds fy, eq[; ,sfrgkfld lzksr gSA

;g ikB 711 bZLoh esa eqgEen fcu dkfle }kjk fla/ dh fot; dk foLr`r fooj.k çnku djrk gSA

pp&ukek ewy :i ls vjch esa fy•k x;k Fkk vkSj ckn esa 13oha 'krkCnh esa vyh dqiQh }kjk iQkjlh esa vuqokn fd;k x;k FkkA
28. (b) The All India Women's Conference (AIWC) was founded in 1927 by Margaret Cousins with the goal of

improving the education, legal rights, and social status of women in India./vf•y Hkkjrh; efgyk lEesyu (AIWC)
dh LFkkiuk 1927 esa ekxZjsV dftUl }kjk Hkkjr esa efgykvksa dh f'k{kk] dkuwuh vf/dkjksa vkSj lkekftd fLFkfr esa lq/kj ykus ds y{; ds
lkFk dh xbZ FkhA

29. (b) The Champaran (1917) and Kheda (1918) movements were important early campaigns led by
Mahatma Gandhi after his return from South Africa.

These movements are known for their emphasis on nonviolent resistance (satyagraha) and are often considered

the moments when Gandhi firmly established his leadership in the Indian independence movement./pEikj.k
(1917) vkSj •sM+k (1918) vkanksyu nf{k.k vÚhdk ls ykSVus ds ckn egkRek xka/h }kjk usr`Ro fd, x, egRoiw.kZ çkjafHkd vfHk;ku
FksA

;s vkanksyu vfgald çfrjks/ (lR;kxzg) ij tksj nsus ds fy, tkus tkrs gSa vkSj vDlj mUgsa os {k.k ekuk tkrk gS tc
xka/h us Hkkjrh; Lora=krk vkanksyu esa viuk usr̀Ro etcwrh ls LFkkfir fd;kA
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30. (b) Marine plants, particularly phytoplankton, are major contributors to the production of oxygen in the

Earth's atmosphere.

Phytoplankton are micros-copic organisms that live in aquatic environments and perform photosynthesis,
transforming carbon dioxide and sunlight into oxygen and glucose.

It has been estimated that these marine plants contribute to more than half of the Earth's atmospheric oxygen./

leqæh ikS/s] fo'ks"k :i ls iQkbVksIykadVu] i`Foh ds ok;qeaMy esa vkWDlhtu ds mRiknu esa çeq• ;ksxnkudrkZ gSaA

iQkbVksIykadVu lw{e tho gSa tks tyh; okrkoj.k esa jgrs gSa vkSj çdk'k la'ys"k.k djrs gSa] dkcZu MkbvkWDlkbM vkSj lw;Z ds çdk'k dks
vkWDlhtu vkSj Xywdkst esa cnyrs gSaA

;g vuqeku yxk;k x;k gS fd ;s leqæh ikS/s i`Foh ds ok;qeaMyh; vkWDlhtu ds vk/s ls vf/d esa ;ksxnku djrs gSaA
31. (a)Sal and teak are mainly found in the tropical dry deciduous forests of India.

These forests are charact-erised by seasonal rainfall and dry periods, where the trees shed their leaves to
conserve water during the dry season.

Teak (Tectona grandis) is a valuable hardwood tree known for its durability and is commonly found

in the dry deciduous forests of states like Madhya Pradesh, Odisha and Rajasthan./lky vkSj lkxkSu eq[;
:i ls Hkkjr ds m".kdfVca/h; 'kq"d i.kZikrh ouksa esa ik, tkrs gSaA

;s ou ekSleh o"kkZ vkSj 'kq"d vof/;ksa dh fo'ks"krk j•rs gSa] tgk¡ isM+ 'kq"d ekSle ds nkSjku ikuh cpkus ds fy, vius iÙks fxjk nsrs gSaA

lkxkSu (Tectona grandis) ,d ewY;oku n`<+ ydM+h dk isM+ gS tks viuh LFkkf;Ro ds fy, tkuk tkrk gS vkSj vkerkSj ij eè;
çns'k] vksfM'kk vkSj jktLFkku tSls jkT;ksa ds 'kq"d i.kZikrh ouksa esa ik;k tkrk gSA

32. (b) The Eighth Schedule of the Indian Constitution deals with the official languages recognised by the Government of
India.

It originally listed 14 languages but now includes 22 languages./Hkkjrh; lafo/ku dh vkBoha vuqlwph Hkkjr ljdkj }kjk
ekU;rk çkIr vkf/dkfjd Hkk"kkvksa ls lacaf/r gSA

blesa ewyr% 14 Hkk"kkvksa dks lwphc¼ fd;k x;k Fkk] ysfdu vc blesa 22 Hkk"kkvksa dks 'kkfey dj fn;k x;k gSA
33. (c) The Supreme Court of India was established on 28 January 1950.

It replaced the Federal Court of India, which was established under the Government of India Act 1935.

The Supreme Court is the highest judicial forum and the final court of appeal under the Constitution of

India./Hkkjr dk lokZsPp U;k;ky; 28 tuojh 1950 dks LFkkfir gqvk FkkA

blus Hkkjrh; la?kh; U;k;ky; dk LFkku fy;k] ftldh LFkkiuk Hkkjr ljdkj vf/fu;e 1935 ds rgr dh xbZ FkhA

lokZsPp U;k;ky; Hkkjr ds lafo/ku ds varxZr lokZsPp U;kf;d eap vkSj vafre vihy U;k;ky; gSA
34. (d) The 8th Five Year Plan recognised human develop-ment as the core of all development efforts. The Eighth Five

Year Plan was launched on 1 April 1992. The plan document was approved by the National Development Council
in its 44th meeting held in May 1992. The Fifth Five Year Plan emphasised employment, poverty alleviation

(Garibi Hatao) and justice. The plan also focused on self-reliance in agricultural production and defence./8oha
iapo"khZ; ;kstuk us lHkh fodkl ç;klksa ds ewy ds :i esa ekuo fodkl dks ekU;rk nhAvkBoha iapo"khZ; ;kstuk 1 vçSy 1992 dks 'kq: dh
xbZ FkhA bl ;kstuk ds nLrkost dks jk"Vªh; fodkl ifj"kn }kjk ebZ 1992 esa vk;ksftr bldh 44oha cSBd esa vuqeksfnr fd;k x;k FkkA ikapoha
iapo"khZ; ;kstuk us jkstxkj] xjhch mUewyu (xjhch gVkvks) vkSj U;k; ij tksj fn;kA ;g ;kstuk Ñf"k mRiknu vkSj j{kk esa vkRefuHkZjrk ij
Hkh dsafær FkhA

35. (b)

36. (d) Artificial satellites do not have their own significant gravitational force that can attract other objects
towards them. Artificial satellites orbit the Earth due to the gravitational force of the Earth. The speed and
altitude of the orbit determine the function of the satellite.

Artificial satellites serve a variety of purposes, including communication, navigation, weather forecasting,

remote sensing and scientific research/Ñf=ke mixzg dk viuk egRoiw.kZ xq#Rokd"kZ.k cy ugha gksrk gS tks vU; oLrqvksa dks
viuh vksj vkdf"kZr dj ldsA Ñf=ke mixzg i`Foh ds xq#Rokd"kZ.k cy ds dkj.k i`Foh dh ifjØek djrs gSaA d{kk dh xfr vkSj Å¡pkbZ mixzg
ds dk;Z dks fu/kZfjr djrh gSA

Ñf=ke mixzg fofHkUu mís';ksa dh iwfrZ djrs gSa] ftuesa lapkj] usfoxs'ku] ekSle iwokZuqeku] nwjLFk laosnu vkSj oSKkfud vuqla/ku 'kkfey gSa
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37. (a)Red light has relatively long wavelengths, about 700 nm long. Therefore, red light travels longer

distances, so it is used for emergency purposes./yky çdk'k esa vis{kkÑr yach rjaxsa gksrh gSa] tks yxHkx 700 nm yach
gksrh gSaA blfy,] yky çdk'k yach nwjh rd ;k=kk djrk gS] blfy, bldk mi;ksx vkikrdkyhu mís';ksa ds fy, fd;k tkrk gSA

38. (d) The high dielectric constant of water (about 80 at room temperature) makes it an excellent solvent for
ionic salts. The ability of water to dissolve ionic compounds is important for various biological and

chemical processes./ikuh dk mPp ijkoS|qr fLFkjkad (dejs ds rkieku ij yxHkx 80) bls vk;fud yo.kksa ds fy, ,d mRÑ"V
foyk;d cukrk gSA vk;fud ;kSfxdksa dks ?kksyus dh ikuh dh {kerk fofHkUu tSfod vkSj jklk;fud çfØ;kvksa ds fy, egRoiw.kZ gSA

39. (a)Cell Division: It is the process when a mature cell divides into two cells.

The cell cycle is completed in 2 phases:

1. Interphase

2. M-phase/Division phase

dksf'kdk foHkktu% ;g og çfØ;k gS tc ,d ifjiDo dksf'kdk nks dksf'kdkvksa esa foHkkftr gks tkrh gSA

dksf'kdk pØ 2 pj.kksa esa iwjk gksrk gS%

1- varjkoLFkk

2- ,e&voLFkk@foHkktu voLFkk
40. (c) AB+ is known as the 'universal acceptor' as it contains both antigen and antibody and also Rh factor./

AB+ dks ^lkoZHkkSfed LohdrkZ* ds :i esa tkuk tkrk gS D;ksafd blesa nksuksa çfrtu vkSj çfrj{kh gksrs gSa vkSj Rh dkjd Hkh gksrk gSA
41. (a)Amrita Devi Bishnoi Award is given to people for their courage and dedication to protect wildlife./

ve`rk nsoh fc'uksbZ iqjLdkj yksxksa dks oU;thoksa dh j{kk ds fy, muds lkgl vkSj leiZ.k ds fy, fn;k tkrk gSA
42. (b) Krishna Thapa is a prominent Indian female boxer. She has represented India in various international

competitions and has gained recognition for her achievements in the sport of boxing.

Thapa is known for her strong performances across multiple weight classes and has earned praise for her

contributions to women's boxing in India./Ñ".kk Fkkik ,d çeq• Hkkjrh; efgyk eqDdsckt gSaA mUgksaus fofHkUu varjjk"Vªh;
çfr;ksfxrkvksa esa Hkkjr dk çfrfuf/Ro fd;k gS vkSj eqDdsckth ds •sy esa viuh miyfC/;ksa ds fy, igpku gkfly dh gSA

Fkkik dks dbZ otu oxks± esa vius etcwr çn'kZu ds fy, tkuk tkrk gS vkSj mUgksaus Hkkjr esa efgyk eqDdsckth esa vius ;ksxnku ds fy, ç'kalk
vftZr dh gSA

43. (c) In Kerala, the festival related to Makar Sankranti is known as Makaravilakku, which is associated with

the annual pilgrimage and rituals at the Sabarimala temple./dsjy esa] edj laØkafr ls lacaf/r R;ksgkj dks edjfoyDdq
ds :i esa tkuk tkrk gS] tks lcjhekyk eafnj esa okf"kZd rhFkZ;k=kk vkSj vuq"Bkuksa ls tqM+k gSA

44. (a) India's first Arya Samaj temple was built in Almora, Uttarakhand. Almora is a town in the Kumaon
region of Uttarakhand and has a rich historical and cultural heritage. The Arya Samaj is a Hindu

reform movement that promotes values and practices based on the infallibility of the Vedas./Hkkjr dk
igyk vk;Z lekt eafnj vYeksM+k] mÙkjk•aM esa cuk;k x;k FkkA vYeksM+k mÙkjk•aM ds dqekÅ¡ {ks=k dk ,d 'kgj gS vkSj bldh lè¼ ,sfrgkfld
vkSj lkaLÑfrd fojklr gSA vk;Z lekt ,d fganw lq/kj vkanksyu gS tks osnksa dh vpwdrk ij vk/kfjr ewY;ksa vkSj çFkkvksa dks c<+kok nsrk gSA

45. (d) Malware is an abbreviation of 'malicious software'. 'Malware' is a generic term used to refer to various
types of intrusive software. Malware includes various viruses, spy-ware, adware, Trojan horses, worms,

etc./eSyos;j ̂ esyhflÕ'k lkWÝVos;j* dk laf{kIr :i gSA ̂ eSyos;j* ,d lkekU; 'kCn gS ftldk mi;ksx fofHkUu çdkj ds baVªwflo lkWÝVos;j dks lanfHkZr
djus ds fy, fd;k tkrk gSA eSyos;j esa fofHkUu ok;jl] LikbZ&os;j] ,Mos;j] Vªkstu gkWlZ] okWeZ vkfn 'kkfey gSaA

46. (c) The Comptroller and Auditor General of India (CAG) is an authority established by the Constitution
of India. The CAG is entrusted with the task of auditing the accounts of the Central and State

Governments and public sector organisations. /Hkkjr dk fu;a=kd ,oa egkys•k ijh{kd (CAG) Hkkjr ds lafo/ku }kjk
LFkkfir ,d çkf/dj.k gSA lh,th dks dsaæ vkSj jkT; ljdkjksa rFkk lkoZtfud {ks=k ds laxBuksa ds •krksa dh ys•kijh{kk dk dk;Z lkSaik x;k
gSA

47. (b)

48. (a)

49. (b)

50. (b)
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C - QUANTITATIVE APTITUDE

51. (c)
x x

20 30
  = 9.5

5x

60
 = 9.5

x = 9.5 × 60

x = 114 km

Now,

Total distance = 2x

= 2 × 114

= 228 km

52. (d) a +
1

a
 = 5

a3 + 3

1

a
= k3 – 3k

= 125 – 3 × 5

= 110

53. (d)Let, radius = height = x

According to question,

5 = 2 2x x

5
x

2


Volume of cone =
1

3
r2 h

= 
1

3
××

2
5 5

2 2

   
      
   

 
125

6 2


cm

54. (a)

th
1

4

 
  
 

Of 28 = 7

rd
2

3

 
  
 

Of 18 = 12

th
2

5

 
  
 

Of 35 = 14

Let, the fourth proportion be x


7 14

12 x


x 24
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55. (c)

a
1

h = 3

a = 
1

3
h

a 1

h 3


tan = 
3

1

o60

56. (a)8400 ×
5

7
×

3

4
 – 2800 × 

3

7
×

1

5
×

3

2

 4500 – 360 = 4140

57. (b) According to the question let the angle be x, 2x and 3x

Sum  of the 3x + 2x + x = 180

6x = 180

ox 30

The largest angle = 3x

= 3 × 30o

= 90o

58. (c) 982Y5 = 9 + 8 + 2 + Y + 5

= 24 + Y

= 24 + 3 27

The smallest possible value of Y which makes the digit divisble by 9 is 3

59. (b) Accoding to question,

CP-385=(721-CP)×3/5

 5CP-1925= 2163-3CP  8CP=4088

 CP = 511

60. (d) A : R

7 : 4

According to question,

7x 3 5

4x 3 3






x 6

A's age = 7 × 6

= 42 years.
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61. (b)

o

A

B

P130
o

x

x

APB + AOB = 180o

130o + AOB = 180o

oAOB 50 

OAB

OAB + AOB + OBA = 180o

x + 50o + x = 180o

2x = 130

x 65

62. (b) rt% = I

5 t

100


= 2

t = 40 years

ATQ

r 40

100


= 5

r 12.5%

63. (d)
C.P 5

S.P 6


6  180

1  30

C.P 150

According to question,

M.P = 180 + 30

M.P 210

Marked up percentage

= 
60

150
×100

= 40%

64. (b)
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65. (d)
P

40

Q R

A

QAR = 90 + 
P

2



QAR= 90 + 
P

2



oOAR 110 

In AQR

QAR + AQR + ARQ = 180o

AQR + ARQ = 180o – 110o

oAQR ARQ 70   

66. (d)

B

A

C

D
E

3

5

4

Now,

AE × EB = CE × ED

4 × EB = 5 × 3

15
EB

4


 AB : CD

 4 + 
15

4
: 8

 31 : 32

67. (a)According to question,

Years      Amount increase

10
× 2

2

20 years 22

68. (b) According to question,

Since perimeter of rhombus is 36 so each side will be 36/4 = 9

9

9 9

9

7

Area of rhombus = b × h

 9 × 7 = 63 m2
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69. (a)

5

60
9

12 A

A+B 20

3

Alone B can complete the work =
60

4
= 15 days

70. (a)  For 2 years of C.I we have,

6000

600 600

60

10% 10%

10%

1st year 2nd year

 C.I  = 600 + 600 + 60 = 1260

71. (b) x2 + 4x – 60 = (x+10)(x–6)

x2 – x – 30 = (x–6)(x+5)

x2 – 11x + 30 = (x–6)(x–5)

x2 – 16x + 60 = (x–10)(x–6)

common factors all fours is (x – 6)

72. (d)

6

2 3

tan = 
6 P

B2 3


tan = 3

o60

73. (a)

3 4
x 1 2

y 3 3

    
       
   

3 4
3

4 4

x ( 3) 2 16
( 1)(3)

y 3(3)3

2

 
    
 
 
  

Now,

= 

1 1
x y 16 3

y x 3 16

           
  

=

1
(256 9)

48

  
  
 

=
48

265


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74. (c) (a+b+c)2 = a2+b2+c2+ 2(ab + bc + ca)

(20)2 = 262 + 2 (ab + bc + ca)

400 – 262 = 2 (ab + bc + ca)

ab bc ca 69  

75. (c) According to question,

3 sinA
tanA

4 cos A
 

sin A = 3 and cos A = 4


cos A sin A

cos A sin A




=

4 3

4 3




=

1

7

D-ENGLISH COMPREHENSION

76. (a) There will be multiple facilities available for reaching the island.

To express the sentence in the future tense, the auxiliary verb “will” is used along with the base form of the
verb.

77. (d) Amenities (lqfo/k,¡) means convenient features or services provided by a society, or company.

Equipment (midj.k) means tools, machines, or devices used for a specific purpose.

Facilitate (lqfo/k nsuk) means to make something easier or help in making progress.

System (iz.kkyh) means a set of connected processes or things that work together as a whole.

78. (a) The correct spelling is “longevity” (nh?kkZ;q), meaning a long life or duration. The word “longivity” is
incorrect.

79. (d) Slim (iryk) means being small or thin, while Corpulent (eksVk) refers to being excessively overweight
or having a lot of body fat.

Blimp (,d izdkj dk ok;q;ku) refers to a type of airship

Obese (eksVk) means extremely overweight

Awkward (vthc) means clumsy or uncomfortable in manner

80. (b) No matter what difficult situation you’re in, there is always a positive side to be seen.

The idiom “Every cloud has a silver lining” means that in every difficult or challenging situation,
there is always some positive aspect or opportunity that can be found.

81. (b) Use the noun “failure” directly without article “the”.

82. (c) Saga (egkdkO;) means a detailed description of a series of real or fictional events that take place
over a long period of time.

Other options:

Witness (lk{kh) means a person who sees an event happen/ the act of observing an event.

Journal (tuZy) means a daily record or diary of events, typically written as a series of personal
entries.

Case study (ekeyk vè;;u) means an in-depth analysis of a particular instance or event, often used for
research purposes.
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83. (a) quickly

The word “quickly” is an adverb, which is used to modify the verb “ran.” It expresses how Sangeeta and
Rina ran to catch the bus.

84. (c) Susceptible (laosnu'khy) means being easily influenced or affected by something, particularly in a
negative way. Similarly, Vulnerable (lqjf{kr ugha) means being open to harm or damage, especially
emotionally or physically.

Aroused (mÙksftr) means being stirred or excited

Resistant (izfrjks/h) means being able to withstand or oppose something

Receptive (LohÑfr nsus okyk) means being willing to listen or accept

85. (c) The correct spelling is “Foreword” refers to a short piece of writing at the beginning of a book, often
written by someone other than the author.

a. Fortunate (HkkX;'kkyh) means having good luck or fortune. (Correct spelling)

b. Fortify (etcwr djuk) means to make something stronger or more secure. (Correct spelling)

d. Fossil (thok'e) refers to the preserved remains of a plant or animal from a past geological age. (Correct
spelling)

86. (c) The word “reckon” (fglkc yxkuk) can mean to count or calculate, especially in a casual or informal
way.

Merit (;ksX;rk) means the quality of being deserving of something

Imagine (dYiuk djuk) means to form a mental picture of something.

87. (c) Disprove ([kkfjt djuk) means to show that something is false or incorrect, while ascertain (lR;kfir djuk),
means to determine or find out something with certainty, especially the truth.

88. (b) Passive Voice Structure: Object + will be + Past Participle (V3) + by + Subject

These parcels + will be + delivered + by somebody + later.

Active Voice Structure: Subject + will + Verb (V1) + Object

Somebody + will + deliver + these parcels + later.

“somebody” or “someone” is often used to refer to an unspecified person.

89. (d) Active Voice: Subject (Somebody) + Verb (is following) + Object (us)

Passive Voice Structure: Subject (we) + am/is/are + being + Past Participle (followed) + by +

Agent (somebody)

90. (c) The verb “enjoy” is typically followed by a gerund (the “-ing” form of the verb) rather than the infinitive

form (to + verb). Therefore, the correct form of the verb here is “learning”.

91. (d) Pacing up and down means walking back and forth in an agitated or anxious manner, often while
waiting for something or someone.

Rolling up their sleeves means preparing to work hard or take on a difficult task

Running behind time means being late or rushing to make up for lost time

92. (d) Acquisitive (yksHkh) means having a strong desire to acquire or possess things. Similarly, Eager

(vkdka{kh) means having a strong desire or enthusiasm for something, often to acquire or achieve it.

Critical (vkykspukRed) means expressing disapproval.

Apathetic (mnklhu) means showing little or no interest or enthusiasm.

Aspiring (egRokdka{kh) means having ambitions or hopes for the future.
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ANSWER KEY

1. (b)

2. (a)

3. (a)

4. (b)

5. (d)

6. (c)

7. (b)

8. (c)

9. (b)

10. (d)

11. (a)

12. (b)

13. (a)

14. (b)

15. (d)

16. (a)

17. (a)

18. (c)

19. (d)

20. (a)

21. (a)

22. (a)

23. (d)

24. (c)

25. (c)

26. (d)

27. (c)

28. (b)

29. (b)

30. (b)

31. (a)

32. (b)

33. (c)

34. (d)

35. (b)

36. (d)

37. (a)

38. (d)

39. (a)

40. (c)

41. (a)

42. (b)

43. (c)

44. (a)

45. (d)

46. (c)

47. (b)

48. (a)

49. (b)

50. (b)

51. (c)

52. (d)

53. (d)

54. (a)

55. (c)

56. (a)

57. (b)

58. (c)

59. (b)

60. (d)

61. (b)

62. (b)

63. (d)

64. (b)

65. (d)

66. (d)

67. (a)

68. (b)

69. (a)

70. (a)

71. (b)

72. (d)

73. (a)

74. (c)

75. (c)

76. (a)

77. (d)

78. (a)

79. (d)

80. (b)

81. (b)

82. (c)

83. (a)

84. (c)

85. (c)

86. (c)

87. (c)

88. (b)

89. (d)

90. (c)

91. (d)

92. (d)

93. (a)

94. (d)

95. (c)

96. (a)

97. (c)

98. (d)

99. (a)

100.(a)

93. (a) “As twilight settled” is in the past tense, while “its streets come alive with” is in the present tense. To
maintain consistency with the past tense, “come” should be changed to “came”.

94. (d) “being rough” acts as a participle phrase modifying “the road.” It conveys the reason for their decision
to abandon the journey.

95. (c) Correct Order is ABCD.

A. introduces the Aryans’ migration.

B. connects to their scientific outlook.

C. explains the concept of the natural law.

D. elaborates on the five components of that law.

96. (a)

97. (c)

98. (d)

99. (a)

100.(a)


